GUARDABARROS  TRASERO  ADAPTABLE A KAWASAKI ZX10R 11’-
rear hugger adaptable to KAWASAKI ZX10R 11’-                                 
 REF: 5678
                                                                             
[image: image1.png]Puicy

v puig. tv




INSTRUCCIONES DE MONTAJE  

INSTRUCTIONS TO ASSEMBLE

1- Desmontar el guardabarros original . Remove the original rear hugger.
2- Colocar los silenblocs en el guardabarros suminstrado. Montar el guardabarros usando el tornillo M6X15 en la posición central y los M6X20 en los laterales. Place the silenblocks in the drills of the hugger supplied. Mount the rear hugger using the M6x15 on the central position and the M6x20 on the side.
3- Vigilar periódicamente el apriete de las fijaciones.
       Check them periodically, and tighten the fixations.

4- En caso de que su motocicleta monte otros accesorios, comprobar que no interfieran con el guardabarros.
       In case your motorcycle has other accessories, observe that it does not interfere with the hugger.
Material sumistrado para el montaje en la motocicleta:

Material supplied to assemble the mudguard:

	POS.
	DENOMINACIÓN
	CANTIDAD

	    
	Silenblocks 
	Silenblocks
	3

	
	Tornillos M6X20 DIN1001 c/negro
	Black M6x20 DIN1001 fasteners
	2

	    
	Tornillos M6X15 DIN1001 c/negro
	Black M6x15 DIN1001 fasteners
	1


GUARDABARROS  TRASERO  ADAPTABLE A KAWASAKI ZX10R 11’-13’
rear hugger adaptable to KAWASAKI ZX10R 11’ -13’                                               REF: 5678                              

                                                                             
[image: image2.png]Puicy

v puig. tv




INSTRUCCIONES DE MONTAJE  

INSTRUCTIONS TO ASSEMBLE

1- Desmontar el guardabarros original . Remove the original rear hugger.
2- Colocar los silenblocs en el guardabarros suminstrado. Montar el guardabarros usando el tornillo M6X15 en la posición central y los M6X20 en los laterales. Place the silenblocks in the drills of the hugger supplied. Mount the rear hugger using the M6x15 on the central position and the M6x20 on the side.
3- Vigilar periódicamente el apriete de las fijaciones.
       Check them periodically, and tighten the fixations.

4- En caso de que su motocicleta monte otros accesorios, comprobar que no interfieran con el guardabarros.
       In case your motorcycle has other accessories, observe that it does not interfere with the hugger.
Material sumistrado para el montaje en la motocicleta:

Material supplied to assemble the mudguard:

	POS.
	DENOMINACIÓN
	CANTIDAD

	    
	Silenblocks 
	Silenblocks
	3

	
	Tornillos M6X20 DIN1001 c/negro
	Black M6x20 DIN1001 fasteners
	2

	    
	Tornillos M6X15 DIN1001 c/negro
	Black M6x15 DIN1001 fasteners
	1


_1111319585.bin

